BER F6FERREAISFERAZEFEERFHEKRE (FZK) 2A138

1 HEER

(1) 2. F8 (Q—X) 5l SH6E2H13H

N ] _ O E X FAEE | o

- % (3—2) 4 BEAR e Wt | s | BEOER

=R @B I BRIZE 74 39 19 58 0.78 1.20 1.18

BRI FE 37 31 12 43 1.16 1.32 1.30

BEHETE 37 23 7 30 0.81 157 1.54

BAEDSRR 80 64 31 95 1.19 1.43 1.41

1HHRE SRR 40 34 16 50 1.25 1.68 1.68

] ) 40 48 27 75 1.88 1.10 1.10

E [ E s (E R Flplus) 32 31 13 44 1.38 1.22 1.22

E R X EEF plus Lt 80 58 48 106 1.33 1.43 1.38

W 4 we 60 27 4 31 0.52 — —

BEER 20 14 0 14 0.70 — —

BIAXERE 20 10 1 11 0.55 0.40 0.40

= B = fif g E 35 15 4 19 0.54 0.74 0.74

x T 35 25 11 36 1.03 1.11 1.09

THAY 35 26 17 43 1.23 1.17 1.17

i i EFB(AXEFEEI—X) 40 40 8 48 1.20 0.58 0.50

AR—YHALITUR 40 38 6 44 1.10 0.78 0.78

Z B = X )T THAY 200 920 36 126 0.63 0.55 0.54

] * % 200 187 59 246 1.23 1.06 1.05

¥ F# EEEEEI—R) 35 18 8 26 0.74 1.06 1.03

ki 16 IS 40 27 6 33 0.83 1.28 1.28

il BT E X RiE#kih 37 38 3 41 1.11 0.86 0.86

Mg T 74 39 10 49 0.66 1.03 1.03

BERIFE 37 26 4 30 0.81 0.81 0.81

AL 37 27 5 32 0.86 0.76 0.76

EmElF 37 23 5 28 0.76 1.16 1.16

F i = B 80 43 11 54 0.68 0.71 0.70

1BERFE 40 44 7 51 1.28 0.78 0.75

ZEH-a31t 80 30 2 32 0.40 0.45 0.45

=B EE FER X1k 40 35 11 46 1.15 1.28 1.25

HWEREE 75 45 31 76 1.01 1.21 1.20

B oW BEEMF(BHEEI—RX) 18 17 9 26 1.44 0.94 0.94

EEXRZ(EWIEAI—X) 19 11 8 19 1.00 1.68 1.68

MEEEE= (FEEEFFRa—X) 19 18 11 29 1.53 1.05 1.05

Mk E= (B EIEI—R) 18 14 0 14 0.78 0.94 0.94

INAA T (ERFEI—X) 18 12 8 20 1.11 1.06 1.06

NAFHEA(BmEFEI—X) 19 17 7 24 1.26 1.11 1.1

BRIETHYAY EBR#KIEDI—X) 19 13 3 16 0.84 1.42 1.42

REBETYAY (BRIETH10a—X) 18 14 1 15 0.83 1.06 1.06

T—RTFHAL2 (2 73—R) 20 23 10 33 1.65 1.40 1.40

T—RFHFALY (INTF4>Ta—R) 20 22 12 34 1.70 1.35 1.35

Tryiarh)IAk 40 20 10 30 0.75 1.10 1.10

Ea—v2547 40 34 13 47 1.18 1.10 1.10

= B E OB EfRRE 40 29 5 34 0.85 0.55 0.55

Effaza=4—>3a> 75 51 16 67 0.89 1.31 1.31

F F I 0% MW I 74 40 20 60 0.81 1.08 1.08

BRI¥ 74 27 15 42 0.57 0.58 0.58

HEHREFIF 74 48 13 61 0.82 0.88 0.88

X ® & & EERR—Y 40 32 12 44 1.10 0.83 0.83

= B ™ E & 40 30 14 44 1.10 0.73 0.70

1FERFE 40 21 6 27 0.68 0.63 0.60

we 40 28 2 30 0.75 0.48 0.47

BERER 20 1 0 1 0.05 — —

FHR- T RER 20 1 1 2 0.10 — —

+  E W& 40 16 7 23 0.58 0.58 0.58

] kv & 2,562 1,734 625 2,359 0.92 0.93 0.92




RHSEE

H B ' A S RIS
=5 % 2 (3—R AB Bl (2 s | _PAHIEIR
2R 4 2R ( ) % S5 AE 2RsE zaeE & & EfEE <£§aﬁﬁga> s
= B B ¥ % 200 260 1 261 1.31 0.98 0.98
mEHEE B ¥ 30 17 0 17 0.57 0.63 0.63

il hva &t 230 277 1 278 1.21 0.93 0.93
& it 2,792 2011 626 2,637 0.94 0.93 0.92
O BEFEXR—HEEH SEAE ZEBRFEE—"SREBH ZEHEAE
KMIAOEHBELATHREORERfIZ2A98-2A138D28M
(2) EBRE-FR3|
- - H OB & K sese e | WEE | aansepr
& + £ BRAR 2878 (28138 | & = AR <£’%§§§é) RHIS
Z & 195 131 41 172 0.88 0.61 0.59
w A 420 191 51 242 0.58 0.51 0.51
B X 225 178 51 229 1.02 1.00 1.00
] I % 595 325 111 436 0.73 1.01 1.00
X 400 360 139 499 1.25 1.22 1.21
R E 120 99 45 144 1.20 1.19 1.19
5 % 35 15 4 19 0.54 0.74 0.74
=i - THAY 70 51 28 79 1.13 1.14 1.13
hva ® B 80 70 18 88 1.10 0.80 0.80
=g - BEX{t 342 249 124 373 1.09 1.21 1.20
15 #R 80 65 13 78 0.98 0.70 0.68
N E 2,562 1,734 625 2,359 0.92 0.93 0.92
. . H B B # RHSEE SHISERE
2 OR 4 28 @—X) £ S5 AEB — BFREE iR | DAY VX
~ 2898 J2B138 [ & | | wmeen | REESEE
LIS 200 260 1 261 1.31 0.98 0.98
g B X 30 17 0 17 0.57 0.63 0.63
INEE 230 277 1 278 1.21 0.93 0.93
=) [ 2,792 2,011 626 2,637 0.94 0.93 0.92
O BEEXR=HEEH SEAE ZEBRFEE=SREBH ZEHEAE
KT EHEELASTHEEOEEZMIZ2A98-2A13BN2EM
2 EREEBINARMPREEFEFZRAFZEAER

H B & O A 45
24 == k.1 3 = R
- *)Q % I:Il.S = *‘I’ % %%AE 2H7E 2H13E ‘é‘ E *g_ﬁ(mﬁ)

X 0 & I&f - E& 75 28 21 49 1
0Ef - E@ 75 48 19 67 0
& E 150 76 40 116 1

3 IREEEFEEHRE (REAEEFEMER - REAFESFIEE)

H R & K
e o =4 | AB
OB 4% = S S5 AE A7 28138 [ & 3
[ = [ (EFEplus) 5 1 2
% B F EE BEEE =T4 1 5
= [ EEaza=4s—3y =T4 0 3

4 ERMII—E5FFRIMHEER

H FE #F % FSEE AFI5EE

=2 X & o S AE — BREEE mafs® |
B # BRAR 2878 | 28138 | & | U HERRR) | RERPEE
— & 4 E 5B 80 134 1 135 1.69 1.39 1.34

O BEER=HBEER SEAE

i

ERFER=2REY FEAR




